$6-6% _—BIEEZRORELTE (HA : ppm)
HOoEr| W oE R — \ ‘ +E IR ‘ ‘
Sk 1 OE T2 % 114 V-l 1 24 P e | 34 YA ol 1 A4 BT i 1 54F B STl 1 64E B | SRl T4E B | Sl 1 S4EFEE | SRRk 194E
it B 0.023 0.020 0.021 0.021 0.021 0.019 0.019 0.020 0.021 0.018
H 3l 0.026 0.024 0.025 0.024 0.024 0.026 0.024 0.024 0.024 0.022
IER ﬁﬁ% | 0.032 0.029 0.030 0.029 0.028 0.029 0.028 0.028 0.028 0.025
o 3l 0.026 0.024 0.025 0.026 0.024 — — — — —
i} 3l 0.025 0.024 0.025 — — — — — — —
it o M 0.022 0.020 0.021 — — — — — — —
il % Fril 0.026 0.027 0.026 0.027 0.026 0.027 0.027 0.026 0.025 0.024
e B & pr|l 0.035 0.032 0.031 0.032 0.031 0.031 0.032 0.031 0.032 0.029
AR K 2y B fEl 0.027 0.024 0.027 0.028 0.025 0.025 0.024 0.024 0.024 0.023
B o 2 &g 0.018 0.017 0.016 0.017 0.014 0.017 0.018 0.017 0.019 0.016
a2 8] 0.015 0.016 0.016 0.016 0.015 0.016 0.016 0.016 0.017 0.015
e B 7 FE| 0.025 0.024 0.024 0.024 | (0.016) | 0.024 0.023 0.023 0.023 0.021
o g T 7 ] 0.014 | — — — — - - - - -
] gl H 2 /)N E R — 0.014 0.014 0.014 0.013 0.012 0.013 0.012 0.012 0.011
Gl | i % Al 0.024 0.022 0.023 0.022 0.022 0.023 0.022 0.024 0.023 0.019
E & filtvs o siE] 0.023 0.020 0.022 0.023 0.022 0.022 0.022 0.022 0.022 0.020
JIL P8 T &% Frl 0.017 0.017 0.017 0.017 0.016 0.016 0.016 0.015 0.015 0.013
= M i % Al 0.013 0.013 0.013 0.013 0.012 0.012 0.012 0.012 0.011 0.010
% 1 0.027 0.025 0.025 0.024 0.022 0.023 0.022 0.021 (0.02) —
H i 0.024 0.023 0.023 0.022 0.019 0.019 0.021 0.019 0.019 0.017
T 0.023 0.021 0.021 0.020 0.019 0.019 0.018 0.018 0.017 0.016
=5 A1 0.019 0.017 0.018 0.017 0.017 0.015 0.015 0.015 0.015 (0.014)
o JE g B 0.029 0.027 0.028 0.028 0.026 0.026 0.025 0.026 0.027 0.024
£ Hl 0.024 0.025 0.025 0.022 0.021 0.023 0.023 0.022 0.023 0.020
s FHZE B 0.031 0.029 0.030 0.030 0.027 0.026 0.027 0.027 0.026 0.024
=] ) | 0.018 0.016 0.017 0.016 0.013 0.015 0.015 0.015 0.016 0.015
Eig 7Kl 0.026 0.027 0.028 0.027 0.025 0.027 0.025 0.023 0.023 0.021
i) gl 0.019 0.016 0.017 0.016 0.014 0.015 0.015 0.014 0.014 0.013
bl H 2] 0.015 0.013 0.014 0.014 0.013 0.013 0.011 0.011 0.011 0.010
it 0.014 0.014 0.014 0.014 0.012 0.012 0.013 0.012 0.012 0.011
it 1 0.015 0.014 0.016 0.016 0.015 0.015 0.013 0.012 0.012 0.011
NETAZ N — — — 0.026 0.024 0.024 0.024 0.024 0.023 0.021
+ 1 0.023 0.023 0.025 0.022 0.021 0.022 0.021 0.020 0.022 0.020
I Sl vl ) — 0.019 0.022 0.021 0.019 0.020 0.019 0.020 0.020 0.019
PN N 4 0.024 0.021 0.023 0.023 0.020 0.020 0.020 0.019 0.021 0.021
fin 3£ WT|HT % 21 0.017 0.015 0.016 0.016 0.016 0.016 0.016 0.016 0.016 0.014
Wk B8 HT|ET % Bl 0.020 0.020 0.021 0.020 0.019 0.020 0.018 0.018 0.018 0.016
i % Al 0.022 0.021 0.022 0.022 0.021 0.021 0.019 0.018 0.019 0.018
JE ] 0.021 0.020 0.019 0.017 0.016 0.016 0.016 0.016 0.018 0.017
& 07 o B O#F] 0.013 0.013 0.014 0.013 0.012 0.012 0.013 0.012 0.011 0.010
A0 | B JH 0.022 0.021 0.023 0.022 0.020 0.022 0.021 0.021 0.020 0.018
g B 0.018 0.017 0.019 0.019 0.018 0.019 0.017 — — -
R A #1 0.016 0.015 0.016 0.016 0.014 0.014 0.014 0.014 0.014 0.012
N ] 0.013 0.013 0.014 0.014 0.013 0.013 0.010 0.013 0.012 0.011
= B T % Fril 0.020 0.019 0.021 0.020 0.019 0.019 0.018 0.018 0.019 0.016
W | % Al 0.011 0.010 0.010 0.012 0.009 0.009 0.009 0.009 0.008 0.007
J\ ] 0.018 0.017 0.018 0.017 0.015 0.016 0.015 0.014 0.015 0.013
i il 0.021 0.020 0.021 0.021 0.018 0.020 0.019 0.019 0.019 0.017
i B 0.024 0.022 0.021 0.019 0.015 0.017 0.017 0.017 0.020 0.018
=] e 0.016 0.020 0.020 0.019 0.017 0.019 0.016 0.016 0.017 0.015
M T4 B 0.018 0.017 0.019 0.018 0.017 0.017 0.015 0.015 0.016 0.014
pikl +1 0.019 0.018 0.018 0.017 0.017 0.017 0.016 0.015 0.016 0.015
i pal 0.016 0.016 0.017 0.017 0.015 0.017 0.014 0.015 0.013 0.012
i =l 0.012 0.013 0.013 0.013 0.012 0.013 0.012 0.012 0.012 0.010
P Hl 0.011 0.007 0.006 0.008 0.008 0.010 0.008 0.007 0.009 0.007
K+ HT|HT % 21 0.025 0.024 0.023 0.020 0.019 0.017 0.017 0.017 0.016 0.015
7= > ® il % Al 0.014 0.013 0.013 0.013 0.013 0.012 0.011 0.012 0.010 0.011
A % Al 0.018 0.017 0.018 0.019 0.018 0.019 0.018 0.019 0.019 0.017
il % Fril 0.017 0.016 0.017 0.017 0.017 0.017 0.015 0.017 0.017 0.014
il J&El 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.006 0.006 0.005
= bl % Frl 0.010 0.010 0.011 0.010 0.009 0.009 0.009 0.012 0.008 0.007
WA @FH % Al 0.016 0.014 0.016 0.016 0.014 0.014 0.014 0.014 0.014 0.011
4 5y - | 0.020 0.019 0.020 0.019 0.018 0.018 0.018 0.017 0.017 0.016
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FE6-5-2F% —BMILERDOEFEEIL (B4 : ppm)
W | owoE T " B fi2 A A
ST 1 O4F S5 17 5 1 148 BT B 1 24 )T B 1 34 ) Bl 1 A4 ) 1 546 T B 1 64 ST i 1 T4 JBE) i 1 84 JEE| SR 194K )
o 1 0.013 0.011 0.011 0.011 0.012 0.008 0.007 0.006 0.006 0.005
o = 0.018 0.015 0.015 0.015 0.015 0.014 | 0.013 0.013 0.013 0.008
IE ﬁﬁ% 1 0.022 0.019 | 0.019 0.019 0.019 [ 0.016 | 0.014 0.011 0.011 0.009
R = 0.017 0.013 0.013 0.013 0.012 — — — — —
i} ¥ 0.017 0.014 | 0.015 — — — — — — —
Ele K = 0.011 0.010 [ 0.010 — — — — — — —
[iil % Pl _0.017 0.016 | 0.015 0.016 0.012 0.011 0.011 0.009 0.009 0.008
e )2 & il 0.026 0.022 0.020 0.021 0.020 [ 0.019 [ 0.018 0.017 0.018 0.014
o K 2 K CfEl 0.020 0.018 0.015 0.017 0.014 | 0.013 0.011 0.011 0.011 0.009
OB & 5 ] 0.009 0.008 0.008 0.008 0.007 [ 0.005 0.006 0.005 0.006 0.004
Lom o/ 28 0.010 0.011 0.011 0.011 0.009 [ 0.008 0.009 0.008 0.009 0.007
i B [ 0.016 0.014 [ 0.014 [ 0.012 0.012 0.010 | 0.009 0.008 0.009 0.007
= B ﬁ?m%d\#& 0.006 — — — — — — — — —
] i H oy /) F — 0.005 0.005 0.006 0.005 0.004 | 0.004 0.004 0.003 0.003
3 il % Pl _0.015 0.014 | 0.014 [ 0.013 0.013 0.010 | 0.010 0.010 0.011 0.008
E B mlrvs o sl 0.014 0.013 0.015 0.016 0.014 [ 0.013 0.013 0.012 0.013 0.01
JIl V8 T % il 0.009 0.008 0.008 0.009 0.008 [ 0.007 0.007 0.004 0.004 0.003
= M Tl % Pl 0.009 0.008 0.007 0.005 0.004 [ 0.004 [ 0.004 0.004 0.004 0.003
% ] 0.018 0.016 | 0.013 0.013 0.012 0.010 | 0.009 0.009 (0.006) —
R i 0.016 0.013 0.013 0.013 0.010 [ 0.008 0.011 0.007 0.006 0.005
il 0.012 0.010 | 0.012 0.012 0.011 0.009 | 0.008 0.008 0.008 0.005
=5 41 0.007 0.007 0.008 0.008 0.006 [ 0.006 | 0.006 0.006 0.008 (0.004)
It @ F #l0.020 0.012 0.013 0.012 0.013 0.009 | 0.008 0.009 0.006 0.006
= H] 0.016 0.013 0.014 [ 0.013 0.011 0.010 | 0.010 0.009 0.009 0.008
woE 74 B 0.025 0.023 0.026 0.027 0.021 0.019 | 0.020 0.016 0.009 0.012
H JII ] 0.008 0.007 0.007 0.006 0.006 [ 0.005 0.006 0.005 0.016 0.003
ER K| 0.022 0.019 | 0.019 0.020 0.018 | 0.018 0.016 0.012 0.004 0.008
it} £ 0.013 0.009 [ 0.009 0.009 0.007 [ 0.005 0.004 0.004 0.011 0.003
fif H 4] 0.005 0.004 | 0.005 0.004 | 0.005 0.005 0.003 0.002 0.005 0.002
Bl 0.007 0.005 0.004 [ 0.004 0.003 0.004 | 0.003 0.003 0.002 0.002
o 4 0.017 0.013 0.013 0.013 0.014 | 0.012 0.009 0.008 0.003 0.006
RNETATUR — — — 0.010 0.011 0.009 [ 0.008 0.008 0.008 0.006
+ +{ 0.018 0.015 0.017 0.016 0.015 0.014 | 0.012 0.010 0.011 0.008
a1 | — 0.009 [ 0.009 0.010 0.009 [ 0.008 0.008 0.008 0.008 0.006
X IN £ 0.016 0.015 0.016 0.015 0.017 [ 0.016 | 0.017 0.013 0.011 0.009
fii % WT|ET % % 0.008 0.007 0.007 0.008 0.009 [ 0.008 0.008 0.009 0.004 0.003
Rk s WT|mT % %l 0.013 0.011 0.012 0.009 0.008 [ 0.007 0.006 0.006 0.006 0.004
i 1% Bl 0.010 0.010 [ 0.009 0.010 0.009 [ 0.008 0.008 0.007 0.009 0.008
2 Fl 0.012 0.011 0.010 0.010 0.010 [ 0.009 [ 0.009 0.009 0.007 0.005
H F A K fE 0.006 0.006 [ 0.007 0.007 0.006 [ 0.006 [ 0.006 0.005 0.003 0.003
N TR JA 0.014 | 0.012 0.014 [ 0.014 | 0.013 0.012 0.012 0.010 0.008 0.006
fift B 0.013 0.012 0.013 0.012 0.011 0.011 0.007 — — —
R e #| 0.008 0.006 | 0.006 0.007 0.006 | 0.005 0.005 0.005 0.005 0.004
S H1 0.006 0.005 0.006 0.004 0.004 [ 0.003 0.004 0.004 0.003 0.002
= Ab Al % Pl _0.015 0.013 0.013 0.014 | 0.013 0.011 0.012 0.010 0.012 0.006
i1 ) 1% B 0.008 0.005 0.005 0.004 0.004 [ 0.003 0.003 0.003 0.003 0.002
J\ %] 0.007 0.006 | 0.006 0.006 0.004 | 0.005 0.005 0.004 0.004 0.003
i fm| 0.013 0.011 0.012 0.011 0.010 [ 0.010 [ 0.009 0.008 0.008 0.007
fiff B 0.016 0.013 0.016 0.012 0.013 0.011 0.010 0.009 0.008 0.006
H ] 0.010 0.010 [ 0.010 0.009 0.009 [ 0.008 0.007 0.007 0.006 0.005
T S 5 ] ¥ 0.013 0.012 0.011 0.010 0.010 [ 0.008 0.006 0.005 0.005 0.004
e -+ 0.011 0.009 [ 0.011 0.010 0.010 [ 0.009 [ 0.009 0.007 0.007 0.005
fiff 7] 0.006 0.006 | 0.005 0.004 | 0.005 0.005 0.004 0.004 0.004 0.003
& ‘=l 0.008 0.007 0.006 0.006 0.004 [ 0.003 0.003 0.003 0.003 0.003
AR ] 0.005 0.005 0.008 0.004 | 0.001 0.003 0.002 0.001 0.002 0.001
Ko WTET % Y 0.033 0.030 [ 0.025 0.017 0.019 [ 0.013 0.012 0.011 0.012 0.009
7~ > O il % Frl 0.006 0.006 | 0.006 0.005 0.004 [ 0.004 | 0.004 0.003 0.005 0.003
A Tld 1% B 0.022 0.020 [ 0.021 0.022 0.020 | 0.021 0.019 0.019 0.019 0.017
R % prl_0.010 0.008 0.009 0.009 0.009 [ 0.008 0.007 0.007 0.007 0.006
A ksl JA] 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.000
A % Bl _0.007 0.004 | 0.005 0.004 | 0.005 0.003 0.004 0.015 0.004 0.004
A ﬁFH 1% Fil 0.006 0.006 | 0.007 0.007 0.007 | 0.007 0.004 0.004 0.003 0.002
E Ja) hE ¥ 0.013 0.011 0.011 0.011 0.010 [ 0.009 [ 0.008 0.008 0.007 0.006
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